StarsCollapseIntoBlackHoles
Ode to Wheeler’s Black Hole

 

A good teacher’s imagination must run wild.

For math and  physics anything else is too mild

Wheeler sure filled the bill when he named the black hole.

Its Mystery left understanding in deep cold.

Einstein not shouting “Yahoo” should have been a clue.

Bohr and Wheeler saw an atom he never knew

 

 Atomic black hole surrounded by electron regal symmetry

Einstein saw an atom that was electron-volatile. He tried to convince Bohr  that electrons go into and out of atoms as a matter of deterministic mechanics, not probability. This common sense view should have won the day but it did not. No one  objected to the critically false model of the atom—except Einstein. His discovery of the photon early on was never really understood as related to the Planck relation, E = nhf. Because he had no way to prove that a photon must have mass, Einstein was not able to see that photon movement inside the atom had a minimum energy of h ergs, with a constant mass of precisely h-squared grams! The number of gravity-linked photons in a single orbit-line around the nucleus is by new inference, equal to 1/h and forms an electron of constant mass of h grams! The resulting h-symmetry allows gross problematic prediction but hides deterministic truth. Wheeler picked up on Einstein’s discovery of the photon--to name the central reason for its locked-in-orbit nature inside the atom.

Bohr’s orbit -jumping electrons inside the atom implied it was mostly packed with nothing. Top particle physicist Leon Lederman, in his book “The God Particle” is here given credit for seeing that the atom cannot be full of nothing orbiting around a central BH! He concluded --that “something” had to be moving as mass inside the atom! He saw a “regal symmetry” of moving “something” that had to be filling the atom! Lederman’s vision inspired the search of particle accelerators around the globe. Accepting a growth/decay central BH provides the vital clue that each atom in the periodic table has a unique life of its own --whereby electrons serve to populate shell orbits that call for protons and neutrons in increasingly larger equal numbers. Only hydrogen has just one of each; which can only mean that up to 2/h electrons occupy the proton shell and that 3/h electrons occupy the neutron shell---as a nuclear-growth shell that is strong force locked to the immutable 10-14 centimeter radius BH that is identical for all atoms. 

 

The number of neutron shells determines atomic number, and every neutron shell was first a proton shell. An electron-packed concentric shell model of the atom is mandatory for any new complete theory of the universe. Final proof can only come from a clear picture inside the atom—one visualized by all the same. 

All gravity fields have to be BH centered with electrons organized in regal symmetry in the same growth/decay way. Why do we never get to see that central growth/decay BH? Because electrons going in and out are traveling at a speed greater than c, and visible matter has electrons to see by that are limited to a speed of c or less. Any light we attempt to shine on the growth/decay BH of a larger gravity field-- from  that of a small planetary body to that of the entire cosmos-- uses electrons that cannot penetrate shells where the dark matter is spinning at a speed higher than c. That is, the visible outer boundary of every field from atom to cosmos is where visible matter is orbiting and that boundary is well outside where unseen dark matter is orbiting at the speed of c. 

Visible matter orbiting in a galactic size or larger size field defines the visible size of that larger field. The dark matter of a larger gravity field extends well out side what we see in our telescopes. The middle range of the dark matter gravity field is thus where visible matter orbits. The growth/decay BH of the field is well inside  the c-boundary where the dark matter  speed is  about 237c. Inside the BH, rotation (spin motion) is replaced by in-out oriented vibration-- whose frequency at a tiny Inner Grain size is 1/h-squared ( 1052 cycles per second. The h-symmetry of dark matter motion is what allows the universe to be predictable using extremely gross approximation. 

Common sense visualization of deterministic detailed mechanics that are way off scale for drawing purposes allows a minds eye correct view. That correct view disallows the presence of nothing (math singularity) and defines the Higgs particle as a variable G-size ball bearing of least friction/lowest possible energy state as doing  all the moving from one R-size material point to another touching next door in each of 6-vibration degree directions for a 3-D visible matter geometry that is overlaid on a 6-degree of vibration movement dark matter pre-geometry.

 

Einstein’s universal harmony (UH) can finally be expressed by a simplification of his space curvature equation ---whereby G = R/3(v-squared).  3(v-squared) is the three axis energy of the ever-spinning R-size material point and G is the radius of Higgs particle that moves from one R to another-- to form a ray of radiation--to define what energy means along a given line in space --where that line is actually made of a line of spin-touching R’s. The G-size Higgs act as maximally spinning BH’s that are strong force attracted to one another in a way that forms a mechanical screw (helical wave) in space that threads its way around the much larger R-size material points. Radiation energy is given by E = nhf, where for reasons of consistent measure using h-symmetry, n is always equal to 1/h in grams, not ergs! --so the h is cancelled and frequency is a direct measure of linear energy. For more detailed mechanics at the electron and atom levels, click on 
http://www.geocities.com/CapeCanaveral/Hall/2638/1MrMorganNewPhysics.doc
And/or contact lfmorgan@gmail.com
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